5 MR

BT

IR T RE HEEEE


http://cnzhx.net/
http://cnzhx.net/

— PRI E A
1 U =A% 1D BRI 2) BEE.

DURIRBSHE BN R P AR BT R, B RIET)
INSHIEHRE, FBIR RIFAFEEAEHE.

2 wWRREH T IEE
B A: —PRBERIEHKE.
JASH T = PATEE— AN B PE 2 B 75 22 O ).

‘/Fﬁz v . BLTIE] A B AT iR R S BRI B H
PR s Fe—AALTE LR [A] P A% 2 1O BE .

v:l/T u:/I/T:/IV i:u/v:Tu
JE BB R R e T IR IR B3R5 s
PR R e TR PR




R ENTE: PER URTH PR
3 BEP. YK
= PEE SRR R
X

ry(x,t) = Acos[aw(t + —) + @]
U
[ X
= A 2 + |
1< y(x,7) cos[2 7t( - /1) @]
 Y(x,2) = Acos(awt ¥ kx+ @) AEE =21/




= FIHEEE

1 FEEMERER S, F—BRITshe. $aE.
LB BE 35 B I 18] 1 [5] 20 20 B BR 2R 4k,  PLBREE A 1 .
Bl BEAIERN —M T .

1 2 2 . 2 X
dw, =dW = —-pdV4A o sm " o(t— )

2 U
2 2 . 2 A
dw =dw, +de = pdVA "o sm " o(t——)
U
2 PFHIGRERE
3 PHIGEmMEE (FmE)




4 FEomk.

1 )i
L, =lg— MR B L,=101g— 40N (dB)

BIR, TAER

0

U BEHRE
ylrile b A

L (fE

b

~N

[,=107""W-m™

/

0

%)

F 2% AR AT AB PR R AT

.

FRIJR R

CJa AT

bt

RNZ, XETEREEHER




h EHIEINRE

A:JA12+A22+2A1A2003 A
A(0=(02—§01—27T(’”2_”1)/ﬂ“

= =0, MAp=-2n5/1 | BEEES=r, -,
rgzikﬂ/ k:O,I,Z,... A:A1+A2
§=+(k+1/2)4 k=0]1,2,--- Ad=|4, -4
5: /:\j,ﬂﬁ AI_A2‘<A<A1+A2

2 B

X
FW R vy =2Acos 2w —cos 27w vt
A

U BT {

[




A
{ik k=0,1,--- A =24
X =

3 FH1

2

1 A

2

max

max

2

FARBAE (F5) MBE= 1/2
FEAR Y ISR T I BE = A /4

YN ik

VERER (3

BARR)

=0

B

KT

EH AN BREN, SR
BB B TR TS NS5 R BE

AL HIAR

DLET I AR, BY REHRAE 0 AL =R T HIFAALEREE

i ERa

BT 2%

MEKRIIEREE, R

=1

}.

K.






AR E @S E B (SR GE D B
(SR AN ) EERMHIE. RO E A As)
A& TR EE P s o0 0 SRR T e K 79 2 1
CORFPRRE” . HARSCFBORHH Haoxian Zeng 9n 5
KA FHRILE F Y-t [ )7 AL 3.0 RASHAK AR V1 R]
P BGHAT VR AT o VEARAE BI85 A A R AT DL



http://cnzhx.net/
http://creativecommons.org/licenses/by-sa/3.0/deed.zh
http://cnzhx.net/teaching/2013/04/college-physics-courseware-part-1/

